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EOC Practice Problems

. A certain population of bacteria has an average growth rate of 2%. The formula for the
growth of the bacteria’s population is A = Po (1.02)! where Pois the original population and

tis the time in hours. . joo
A= 200( ). 02)
If you begin with 200 bacteria, about how many bacteria wil there be after 100 hours?

o m\
A. 7 B. 272 @ 1,449 D. 20,000
Which function represents this sequence? o=
Q,= e, (r)
. i . = ,|'I
2| 3| 4| s5|...] a,= 6(3)

6 | 18 | 54 | 162 | 486

x3 x3 X3 %3 \
A. f(n) = 31 B. f(n) = 60! C. f(n) = 3(é™) @((n) = 6(31)

3. The points (0, 1), (1, 5), (2, 25), and (3, 125) are on the graph of a function. Which equation

represen‘rs’rhoffuncﬂon?é"xp,kiﬁ From ualt & of Plyy ia x's b Fravig

A f(x) = 2¢ B. f(x) = 3* C. f[x) = 4 (BXix) = 5
4. The function f(x) is graphed below. Which graph shows f(x) + 22 y
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§x)= a-b

5. Which function shows the function f(x) = 3¢ being translated 5 units to the left?

flx) = 3-5 @f(x) = 3l C. f(x) = 3-8 D.f(x)=3+5

6. Consider this poﬁem.

O,’: Ca'(()‘al
= (‘ﬂH
B .u,f»-l

Which function represents the sequence that represents the patterne

VD
@f(n) = 4l B. f(n) = 4loy1) C. f(n) = (an)(4™) D. f(n) = (an)4
7. Which function is modeled in this table¢
_ \ A=l - oo
A. f(x) = 1000(0.80)* Q= ¢ (1) :
B. f(x) = 1000(0.20)x i n~l _
_ _ = 1000( 0:%) e D
f(x) = 1000(0.80)*! JwDe
3 640
D.f(x) =1 .20)%-1 -
(x) = 1000(0.20) 4 512 }x 0.¥
8. Which explicit formula describes the pattern in this table? -
d
g o Pl i
£ R0 0.= G, (?) 0 v
B. C=d+6 ‘ d $ Yyl )xl,
@C:éd L(CJY,' il chedt |2 6 §
T b c chee
. C=d¢ 2 36 L’\‘b
e ’
= 6 3 | 216 &7

9. If f(12) = 100(0.50) 1(2, which expression gives f(x) 2

A f(x) = 0.50%
. f(x) = 100%

f(x) = 100(x)'2
é f(x) = 100(0.50)x
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10. A population of sguirrels qoublgs every yeor.“lni’rio'llx, Pty
Thw A biologist studying the squirrels A
creafed a function to model their population growth: oy 1 00
P(t) = 5(2)t where tis the time in years. The graph of the | "
function is shown. —80 ¢
. . 604
What is the range of the function? v
A. Any real number
B. Any whole number greater than 0 20f-—*1
'CJ Any whole number greater than 5 +° -t

Any whole number greater than or equal to 5 -75 -5 ~25 0| 25 5 75
e — : i

of e Star-1= . A
11. The function graphed on this coordinate grid shows f(x), the x)
height of a dropped ball, in feet, after its xth bounce. o5
On which bounce was the height of the ball 10 feet? 2 20
Bounce 1 § " X
B. Bounce 2 S 106D
C. Bounce 3 % 5 L‘
D. Bounce 4 - V. * -

0 { 2 3 4
Number of Bounces

12. Look at the graph. j
, ‘ 15
Which equation represents this graphe e ?
Ay =201 =2 C.y =202 - | INEENENE / C
- LN S ‘19 .
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